Kat Davis

September 17, 2009

ELC 130 (Lab 4)

Truth Table for Circuit 1

X =  (A+B) * (B+C) * (A+C)

	Input
	 A+B
	B+C
	A+C
	Expected Output
	Observed Output

	000
	0
	0
	0
	0
	0

	001
	0
	1
	1
	0
	0

	010
	1
	1
	0
	0
	0

	011
	1
	1
	1
	1
	1

	100
	1
	0
	1
	0
	0

	101
	1
	1
	1
	1
	1

	110
	1
	1
	1
	1
	1

	111
	1
	1
	1
	1
	1


Truth Table for Circuit 2

X = (A+B)*(b+C)*(c+D)*(A+D)

	Input
	A+B
	b+C
	c+D
	A+D
	Expected Output
	Observed Output

	0000
	0
	1
	1
	0
	0
	0

	0001
	0
	1
	1
	1
	0
	0

	0010
	0
	1
	0
	0
	0
	0

	0011
	0
	1
	1
	1
	0
	0

	0100
	1
	1
	1
	0
	0
	0

	0101
	1
	0
	1
	1
	0
	0

	0110
	1
	1
	0
	0
	0
	0

	0111
	1
	1
	1
	1
	1
	1

	1000
	1
	1
	1
	1
	1
	1

	1001
	1
	1
	1
	1
	1
	1

	1010
	1
	1
	0
	1
	0
	0

	1011
	1
	1
	1
	1
	1
	1

	1100
	1
	0
	1
	1
	0
	0

	1101
	1
	0
	1
	1
	0
	0

	1110
	1
	1
	0
	1
	0
	0

	1111
	1
	1
	1
	1
	1
	1


